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Uncontrolled cell division:
)         [image: http://www.biology.iupui.edu/biocourses/N100/images/8mitosiscropped.jpg]	
	_________       ________       ________       ________     ________
REPRODUCTION (of organisms) depends on _________________ _____________________!

	Asexual
	Sexual

	Parents ___________
Offspring  __________________
Cell division _________________
 (
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TYPES of asexual reproduction:
1.
2.
3.
4.
5.
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)Parents ____________
Offspring  __________________
Cell division _________________
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MEIOSIS
Produces GAMETES
)





     Fertilization:
                                                                       Cons:
                      +              = 
                                                                       
                                                                       Pros:
______         _______     _______
(haploid)       (haploid)     (diploid)


 (
INDEPENDENT ASSORTMENT
Another source of genetic variation
Ex:  What are the possible gametes that will be produced from this diploid cell?
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MEIOSIS
)			[image: http://upload.wikimedia.org/wikipedia/commons/thumb/9/9a/Meiosis_Overview.svg/300px-Meiosis_Overview.svg.png]
image2.jpeg
Mitosisttt





image3.jpeg




image4.png
lows Internet Explorer pros =18 x|

[ ittt ncpublcschools.orgidocsfaccountabittyjtestingieleasedformsibilogyreleased. o

] 42/ X | [rc soc test bobogy released form 2009 | £~

Fle Edt GoTo

Favorkes Help

DB i publeschoos orgeefoccomtabity. | |

B E R G ”

Page 22

Go to next page

weort Nor, Carelin Tt f iy, Frm 1 RELEASED Fu 2009
49.  In a particular species of plants, when 51.  This diagram shows a diploid cell with
the soil pH is greater than 7, blue two pairs of homologous chromosomes.
flowers are produced. However, when
the soil pH is less than 7, pink flowers S
are produced. Which statement best r { A
explains the color change in the plant?
A Multiple alleles determine the gs
color of the flowers.
B The change in flower color is a Due to independent assortment, what
result of a mutation. : g :
is the possible genetic make-up of
L. . i i ?
C  Polygenic inheritance produces gametes producod by this organism?
the different flower colors. A,
D The environment influences the
’ B Ss,Tt
expression of the gene for flower
color. C SsTt
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